Task A Part 1:
Here are the results from six football matches:

Kelsall 2 -3 Tarvin Tarvin 1 -3 Ashfon
Ashton 5-2 Duddon Ashton 2 -2 Kelsall
Duddon 2 -4 Kelsall Tarvin 5-1 Duddon

Fill the gaps in the league table:

Won | Drawn | Lost | Points | Goals Goals
For Against
Ashton 7 S
0 1 6 4
1 8
Duddon 0] S

3 points for a win, 1 point from a draw, 0 points for a loss.

Part 2:

In the 2018 World Cup, England were in a group with Panama, Belgium
and Tunisia. Here are the results. Two results are covered up.

Belgium 3-0 Panama Tunisia 1-2 England
Belgium-Tunisia England- Panama
Panama 1-2 Tunisia Belgium 1-0 England

Use the league table to work out the hidden resulls.

Group G P W D L F A Pts
Belgium (Q) 3 3 0 o 9 2 9
England (Q) 3 2 0 1 8 3 6
Tunisia 3 1 0 2 5 8 3
Panama 3 0 0 3 2 N 0

.-l
LEAGUE TABLES Y5 & Yé



Task B (challenging)

In the 2018 World Cup, Group C was played between Australia,
Denmark, France and Peru. Here are some of the results and some of
the final league table. Fill in the gaps.

France 2 — 1 Australia Peru 0 — 1 Denmark

Peru 0 — 1 France Denmark 1 — 1 Australia

Peru - Australia France - Denmark

Group C P W D L F A Pts
3 2 1 0 3 1 7
3 0o 2 1 5
3 1 0 2 2 3
3 2 5 1

.-l
LEAGUE TABLES Y5 & Yé
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Answers
Task A Part 1:

Points | Goals

For

Goals
Against

Ashton

7

10

5

Tarvin

6

9

4

Kelsall

4

8

7

Duddon

0

3

0

5

14

Task A Part 2: Belgium 5 — 2 Tunisia

Task B: Peru 2 — 0 Australia

GroupC
France (Q)
Denmark (Q)
Peru

Australia

P
3

3
3

France 0 - 0 Denmark

W
2
1
1
0

D

1
2
0

1

L
0
0
2
2

F
3
2
2
2

Pts

England 6 — 1 Panama

Note: The first two results show that France and Denmark are 15 and
2nd. France must be top as they scored 3 goals, whereas Denmark
had only scored 2 goals. The team finishing third must be Peru as they
had no draws. Therefore they must have beaten Australia. We can
use the goal difference of Australia to work out the score.

LEAGUE TABLES

Y5 & Y6



